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First Attempt 



Ron has 2 more apples than Mo.
Mo has 5 apples.
Kim has 1 less apple than Mo.

Have a think
Draw each child’s apples.













Cal and Mo describe the units. Whose way is correct?

There are _____ _____ .
There is _____ , _____ times.

50 50



Which multiplication expressions could be used to represent each 
picture of counters?

There is/are _____ _____ .
There is _____ , _____ time/s.

2 × 50

50 × 1
1 × 50

50 × 2



50 50 50

There are _____ _____ .
There is _____ , _____ times.

Represent the picture using unitised counters and a multiplication 
expression

3 × 50



There are _____ _____ .
There is _____ , _____ times.

6 × 50

Represent the picture using unitised counters and a multiplication 
expression



























 

 



 

 



 

 





 

 


